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General Instructiong / e gy .
This Question booklet has

two Parts ~ Part-A and Part-B.

Part-A is of MCQ Type having 35 marks which are to-be-answered on the
OMR Answer. sheet which will be provided separately. Part-A has to
answered first from 2.00 pm. 1o 3.35 pm and the OMR Answer Sheet has
to be handed over to the Invigjlator by835pm. -
Part-B is of Subjective Type having 35 marks which are to Be answered
in the Ansv_.’er;boci_g:progided separately. Part-B has.to be answered from
3.40 p.m. to 5,20 pm. . et é
Candidates can’ take away

the QuesnonBooklet after completion of the
Examination.
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( MCQ BASED QUESTIONS )

( TRfreRedta e oy )

Clags-12 Sub.-Chemistry F.M.-35
(Ti-12) | (fwa-wmasmm ) | (quike.as)

Time -1 Hpur 30 Min.
(|vg-~1 921 30

INSTRUCTIONS / iyl ;
.

2.

3.

Carefully fill up the necessary particulars on the OMR Answer Sheet.

arayrl yeda @il foaw OMR 38t vk gt |

Put your full signaturc on thc OMR Answer Sheet in the space

provided.

MY AU YU FEAH OMR IR T9H T & T FE W H |

There are 35 Multiple Choice Questions in this Part.

8 um 8 Fa 35 T~ el wwa §

All questions are compulsory. Each question carries 1 mark.

TR Tl 6 I N AR 21 v wE A st 1 a7 Ruffa 81

There is no negative marking for any wrong answer.

T I % o ¢ 3t 79 w5 s

Read all the instructions provided on page 2 of the OMR Answer

Sheet carelully and do accordingly.

OMR 3T T & 98 2 W e wfl el ol eamqds o8 aon 3@ s

Fr H)

Use the' page given at the end of the question booklet for Rough

Work. Do not do any Rough Work on the OMR

Answer Sheet,

T HE & 9 e & o R T g w1 @ s 9 oMR 3

U W Hie TF S 7 HL
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Four options are given for each (Juestion, You have to darken duly
the most suitable answer opn your OMR Answer Bheet. Use only

Blue or Black Ball-Point Pen, The uge of Pencil is not allovred,

yRE WA TR famey 2 i 4 | g7 9 T zoges 7 W1 AT A9A OMR

I TF W A6~ 0 wwen w) Fue A Y] F1A| BiA-AEL FAY 4
s w1 9@ w1 ga afidg 8

Adhere to the instructions provided in the OMR Answer Sheet

very carefully otherwise your OMR Answer Sheet will be treated as

invalid and it will not be evaluated,

OMR I Tk Wt fed R Fréil %1 vamqds wiem £ifqu 212141 27781 OMR
I TR IR B 3 3G geuiwA T4 frm gmm
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Which one of the following is non-crystalline or amorphous 1n

nature ?
(1) Diamond ' (2) Graphite
(3) Common salt . (4) Glass

Frefefaa § @ S @RA A e IFid 6§ ?
(1) & - 2 R
(3) TRV THH (4)  IEW (D)

An ionic compound has bce structure with atoms A occupying the
corners of the unit cell and B at the body centre. The formula of the

jonic compound 1s
(1) AB (2) AB,

(3) AB, _ (4) AB,

XS-CHE-(COMP)-S (12)/14090| 4 / 32
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(1) 4B (2)  AB,
(3) AB, (4)  AB,
The molarity

of the solution containing 5 g of NaOH in 500 ml of

aqueous solution is

(1) 1M 2) 25M

(3) 025M (4)  0-025M

w%aaqﬁmaﬁrﬁﬁv%sooma?ﬁaﬂﬁﬁﬁSgNaomﬁ

g T ?
(1) 1M (2) 25M
(3) 025 M (4) 0025 M |
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Relative lowering in vapour pressure is equal to

(1)  molarity of solqtion

(2)  molality of solution

(3) mole fraction of solute

(4) mole fraction of solvent.

%%aﬁrmﬁ s me%

(1) fFemEAwRa@ s o (2) faord S e ©

@®) ﬁ_‘cﬁﬁ%ﬂﬁﬁ&iﬂ% (4) Imémamas
The chargé required for the reduction of 1 rﬁ.c;ulllof AI** to AI is
(1) 96500C | | : [Qi ‘ ?93000 C

(3) 289500C ~ (4) 386000 C
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1) 96500 C
(1) - (2) 193000 C

3) 289500
(3) C (4) 386000 C

The unit of ce]] constant is

(1)  ohm™ em™

@  cm

3) ohm™ em ) _(4)': em?
ﬁaﬁﬁﬁﬁaaﬂrmﬁﬁ%

()  ohm™ cm! '-(2)_-, cm

@)  ohm™ cm @) cm™

A reaction is first order in A and second order in B, How ié the_ rate

affected when concentrations of both A and B are doubled ?

(1) . It increases 4 times (2) Itincreases 6 times

(3) Itincreases 8 times (4) It reduces 8 times

XS-CHE-(COMP)-S 12)/14090
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(1) T R T ghe R (2) wﬁ@?wqﬁe{ﬁ
® Tt (@) et o1 T A
Molecularity of a reaction cannot be . | -

(1) O 2 1

(3) 2 4 .3
T ATIRRAT St SATTH .o Tl 8 Fehdl |
(1) o | 2 1
3 2 | o 4) 3

Which of the following is aerosol ?
(1) Smoke (2) Soap lather

(3) Mik - (4) Butter

XS-CHE-(COMP)-S (12)/14090| 8 / 32




10.

11.

| bownload PDF from - JACBoardSolutions.com

>
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(1) dem (2) 'Wmﬂm
3 T (4 HEET

The process of sétting of colloidal particles is called

(1)  electrophoresis | (2)  peptization
@) | coagulation '. o (4] dialysis
ﬁﬁﬁsﬁmﬁ%aﬁ%éaaﬁaﬁrmm%

W dgremde g e
@ WA @ wﬂm

Calamine is an ore of
(1) Zn . (2) Al

3) Cu - (4)  Fe

X8-CHE-(COMP)-S 12)/14090
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(1)  Znw
(3) Cuw

Leaching is a process for

- (1)  reduction

(3) refining
freter wfpar &
(1) =TT <1

(3) i

>

2)

(4)

2)

(2)

(4)

AL

Fe bl

concentration

oxidation

T

FerdteR oT

CHE
Science

Which of the following pfocesses is used for purification of nickel ?

(1) Zone refining

(3)  Van Arkel process

(2

(4)

Mond’s process

Froth floatation process

XS-CHE-(COMP)-S (12)/14090
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(1)  Hee qispRor (2) rﬁ;gm_
(3). OF IR fafy (4) . 7 wram fafy

Whigh of the following does notl exist ?

4

(1) Pl @ Koy
(3) AsCl, © (@) sbel
F=1 8 @ frwet aiftae =8 2 o

(1}' P015 RER '(2) NCIg

(3) AsCl o T @ sbey

Process of commercial production of nitric acid is

[1.} Haber process - (2)  Ostwald’s process
{3) . Contact process’ (4) 'Deacon’s process
XS-CHE-{COMP)-S [(12)714090
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Ww%mﬁamﬁﬁﬁs%
W R (@) ot B
) wemifalr - 4) femefafy

Which of the followiﬁg acids is a tribasic acid ?
(1) - H;PO,4 (2) ﬁSPOQ

(3} HPO, (4) HZPO,
S ———_—

(1) H,PO, () H,PO,

(3) HPO,4 ' (4)  HgPO,

Which one of the following is diamagnetic in nature ?

(1) Co? (2 Ni*
3 Ccu2t | @ Zo?
XS-CHE-(COMP)-S (12)/14090
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ST o o
(2) iR+

3. Cux (4) . Zn2*

Colou iti : ;
rs of transition metg] lons are due to absorption of light of

some wavelength. This results in
(1}  d-dtransition - (2)  p-p transition

(3) s-s transition 4 d-f transition

wwﬁ%www&s&%wwmmmmﬁ

mﬁ%mqﬁvm% |
(1)  d-d ST (2) p-pEFEAT
(3) s-sWwET (4)  dfdma

X8-CHE-(COMP)-S - {12)/14090 | 13 / 32
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Which of the following is ambidentate ligand '-’

(1) so¥ | (2 CoN
(3) OH (4)  H,O .
Fretfar ﬂﬁ - 3w f%»m—é €7

(1) so 2- (2 CN

(3) OH” . (4 HYO

CH4CH,Cl + Nal 2SO, ¢y CH,I + NaCl

The reaction is

(1) Wurtzreaction = . (2) . Finkelstein reaction
(3) Sandmeyer reaction (4) Swarts reaction
XS-CHE-(COMP)-S (12)/14090

CHE
Science

14 / 32



21,

Download PDF from - JACBoardSolutions.com
Science

RG]
> CH3CH,I + NaCl

CH3CH2C1 + Nal

Hfvfewar &

(1) 5 sifufemy (2) e afafmar

O RS )k e

Whichlof the following will react faster in Sp2 reactiqn ?

(1) l-bromopentane -(2) 2~b_r§mopentane

(3) S-bromﬁpentane @ | ' 2—brc;m0;2—methyl butane
Sw2 aﬁmasmﬁm%mqm%m% )

(1) 1-siH=A i (-2,} Q-Eﬁﬁiﬁ%r

(3)  3-smRRS N 2-5ie-2-firenget =

XS-CHE-(COMP)-s  [(12)/14090| 15 / 32
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22.  What is the IUPAC name of CH,— O —CyH;g ?
(1) Methoxymethane | (2) Ethoxyethane
(3) Methoxyethane (4) Qfmethoxycthane
CHy— O —C,Hg T [UPAC AW &1 § ?
(1) ﬁa’m”rﬁ‘ﬁ? o (2) T
(3) Telie{uET | (4}. | z—ﬁa’ra@@? |

23. | _Hydraﬁon of propene in the presénce of dil. H,SO, gives
(1) CH,—CH,—CH,— O (2) CH,—CH(OH)—CH,
(3) CHz—CH,—OH (4)  CHy— OH
™ Hgsoﬁaqﬁaﬁrﬁu’mﬁ:rw%'@m(mm) A T BT §
(1) CHy—CH,—CH,—OH (2) Cﬁa— CH(OH)—C'H?,‘

(3) CHa—CH,—OH (4) CH,—OH

XS-CHE-{COMP)-§ 12)/14090 | 16 / 32
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In Acetaldehyde + 4 | 1 ] Zn-l—Ig/I-ICI\ A Ais

11 Metl
(1) ethane (2)  Ethane

(3) Propane

Q@aﬁsmg+4m]zn'l{gmg AT AR
(1) Higq (2) 32)7-[
(3) wF - K (4) 79 R wE

Tollen’s reagent is

(1)  mixture of CuSO, and NaOH |

{2) ammoniacal silver nitrate solution

(4)  None of these

CHE
Science

(3) 4 solution of copper sulphate, sodium citrate ah.d sodium

carbonate

(4)) anhydrous ZnCl, and conc. HCI

XS-CHE-(COMP)-8 (12)/14090
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el @ atfwds €

(1)  CuSO, @™ NaOH @ fiygoy

(2) ity faeer Aee faeam

(3) HW Tedhe, Mfeaw WREe 7o Mieqn HEME I (Gord
(4) 3 ZnCl, 3R g HCl

In Benzaldehyde + [ O |—21T 5.4, A s

(1)  Benzene (2) Benzoic acid
(3)  Benzyl alcohol (4) Nont; of these
IS + [ O ]L Adat

(1) A - (2) ﬁﬁﬂéﬁ T
(3) =T TehleeT (4) i e

XS-CHE-(COMP)-S (12)/14090
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ated with an aqucous solution ol sodium

When acctamide is he

hydroxide and bromine, the Product formed is

(1) Methylamine (2)  Ethylamine

(3)  Propylamine (4) Noné of these

T THETISE Wi ereemes & s e s & e o
ST &, A Sag T & | |
(1) 'ﬁ‘aﬁaaﬁhq 2) i A

(3) i e (4), T ¥ P

Which of the following is functional gfoup of primary amine ?

(1)  —nNH @ —NH,
(8) —NH, : (4)' —NH,

s e i e s et 3 9 A § 9

(1) - —NH | (2) - —NH,
(3) —NH, . @) —NH

- XS-CHE-(COMP)-S ~  |(12)/14090 | 19 / 32
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. . . OnneCth to eaCh
Proteins arc polymers of amino acids, that ar¢ ¢

other by R

| . i inkage
(1) glycosidic linkage (2) phosphodiester linkag

" (3) peptide bond (4) none of these
WWW%Waﬁwmﬁ ............ gt o3 T £
() TR Ay @ EroRreETE &Y
(51 eree (4) T @ FE T

Which base is not found in DNA ?

(1) Adenine (A) 2) Gu;anine_(e;
(3) Uracil(U)~ (4) Thyl;line' (T)
DNA H HIH-]1 &R el qrar ar & ?

(1) TR (A}. @ l wﬁm (G)
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Rickets is caused due to deficiency of

(1) ~Vitamin A

(3) Vitamin C

Rz fohge ot @ gy & -

(1) ToaEfTa

(3) foefm ¢

Caprolactum is monomer of

(1)  Nylon 6

@) Bakelite -

(1) Ee-6 &

(3). P F

(2)  Vitamin B
(4)  Vitamin D
(2) faaf= B
4) TEat=p
(2) Nylon 6, 6.
(4) | Terylene
(2) TEEH-6, 6 H
4) T =
XS-CHE-(COMP)-S _ |[(12)/14090
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The eclement which is added to raw rubber to improve its

physical properties is

(1)  Carbon (2) Sulphur

(3) Nitrogen (4)  Oxygen
STUCF TR % wifers ol & quR % forw i ey o e & o 3
(1w @ W |
(3) e @) iR
Which of the followilng is used as disinfectant ?

(1)  Soframycin - 2)  0:2% phenol
(38) Equanil (4)  Morphine .
Pt 3 @ foveen e % o e g &

(1) Hmmmﬁ:r | (2) 0'2‘3/;3 iteT

(3) T | (4) HifeT

XS-CHE-(COMP)-S [(12)/14090] 22 ; 32
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Barbituric acid is an example of

(1) 'I‘mnquil_izer

(2)
(3]  Analgesic (4)
TEF 3 TR §
(1) v (2)
(3) SRR % @)

Antibiotic

Antacid

aiqarer &

XS-CHE-(COMP)-8 (12)/14090
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ONS )
( SUBJECTIVE BASED QUESTI

(%ﬂﬂﬁsanmﬁ?rmﬂ)

30 Min
e -1 Hour .
'ﬁ;ﬂ_ ) ga1 30 fiFe)

Class-12 Sub.-Chemistry .M.
(@i-12) | (Rva- wmaws ) | (qoie -35)

INSTRUCTIONS / fdw :
far as

. . awn words as

1. Examinees are required to answer in their ©

practicable.
qfterreff Ty 319X W) | & Sw Gl

‘ _ Total number of
9. This question paper has three sections : A,Band C

questions is 19.
o 99T 7 47 @S — A, BT CF | et T B GE 19°F |

3. Section-A — Qucstion Nos. 1 - 7 are Very short answer tupe.
Answer any five of these questions in maximum one sentence each.

Each question carries 1 mark.

W—Aﬁ'wﬁmnﬂaﬁrﬁqﬁﬁaméﬁ% T @ R dr

n

¥ 3T AP | s TR ST sfwan wF g § e | v W @

Wlﬁﬁﬂiﬁ‘ﬁ%l

XS-CHE-(COMP)-S (12)/14090 24 / 32
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Section-B — 1

any five of these .
8¢ questions in maximum 50 words cach. Each

qQuestion carries 3 marks.

QUS-B — Y & 8 - 14 oY Jota § | 3} frdl b gl % I

Wimmm'mmsomﬁﬁaﬁqnmm?ﬁ
ST 3 3f Pl 2

Section-C — i
ction-C — Question Nos. 15 - 19 are Long answer type. Answer

any three of these questions in maximum 100 words each. Each

question carries 5 marks.

_‘m—c—-mé@r 15 - 19 & 3l ¥ | T @ Pyl . e ¥ I
Wlﬁ%mm%mos@ﬁﬁﬁqtmwﬁ
W 5 37w Pyifa R |

XS-CHE-(COMP)-S (12)/14090 | 25 / 32
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( Very short answer typ¢ qucstiﬂns ’
¢ arfir oy e v )
1 x95=5

Answer any five questions.
Rt i sl % S S
What is the unit of first order rate constant ?
Wﬁéa&mamaﬂwﬁﬁewﬁ ?

: 3+ 9
What is the geometry of complex [TI(HQO}E.] '

[Ti(H,0),** ¥t %I aHka T & 2

ble ?
Which is the most electronegative element in periodic ta

aﬁﬁwﬁﬁmaﬁaﬁwmmaﬁ?w% ?

Write the electronic configuration of Co*t(Z=27).
coz*(z=2?)wsﬁa§ﬁ%ﬁwm%@1

Name two nucleic acids.

<) =gt 3R o A Fad |

Write the.rn_o'r_xomers of Buna-S.

~ Buna-$ ¥ TEerE H AW o |

Name any one antacid.

Rt T TfdeTRT T AH S |

XS-CHE-(COMP)-S ‘_(!-2’/14090 26 / 32
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( Short answer type questions )

( Y WG we )
Answer any five questions. 3x5=15

fergl uie et % 3em 3
Differentiate between Schottky and Frenkel defect.
WA A 741 Shee 2w o Fye T |

he . . - .
The vapour pressure of pure benzene at a certain temperature 1s

0-850 bar. A non-volatile, non-electrolyte: solid weighing 0-5 g is

added to 39-0 g of benzcm: (molar mass 78 g mol™* ). The vapour

pressure of the solution obtained is 0-845 bar. What is the molar

mass of the solid substance ?

ferdll a9 W ¥g I~ AT g 0-850 bar 1 0.5 g STeTSHRiie forem
mqaaaiuaﬁsgogﬁw(WW?ngl ) H =l T e

’r%iamaa’rarmmm%bar%aaﬂvﬁﬁmm:rw% )

What are lyophilic and lyophobic sols ? Explain with examples.

Sermlt e st Wi 1 8§ 2 SeRer Wi sren o)

XS-CHE-(COMP)-S 12)/14090 | 27 / 32
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(b) [ Co (en),
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Calculate the magnetic moment of
@ Sct(zZ=21)
(b) V' (z=23)
@ sct(z=21
b)) V¥ (z=23) _
llowing :

o . f the fo
Using IUPAC norms write the systematiC names © _

(@  [Co (NH,), (H,0),1Cly

]t

© [Nic,]*

(UPAC Rl 3 s ® Frfetfan & qeattad A1 feted -
@ [ Co(NHy), (H0),]1Cl

(b) [Colen)s]™

© [NiCl]*

Predict the product :

OH

CHCl,/aq.NaOH
@) —

Anhyd. AICI
(b) + CH,COCl 3,

. Peroxide -
() CHCH,CH = CH, + HBr roxide- |

x_S-CHE-[COMP]-S 12)/14090| 28 / 32
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a @ CHCL, /sl NeOH

(b) @ + CH,COCl il A,

TS

(¢} CH4CH,CH = CH, + HBr >

- How will you bring about the following transformations ?
(8)  Benzene to nitrobenzene

(b) ' Ethane nitrile to ethanamine

" (c)  Toluene to benzoic acid.

frefrfae aRerT =) omT 39 35 )

(é)_ éﬁﬁ#ﬁaﬁ@aﬁﬁ#

(b) 3 AR Q@ SN

XS-CHE-[COMP)-S (12)/14090 | 29 / 32
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( Lohg answer type questions |
( &t I W )
Answer any three questions. 5x3=15
et o e I A
The rate of a particular reaction doubles when temperaturc

changes from 27°C to 37°C. Calculate the energy of activation of

such a reaction. (Given log 2 = 0-30)

Ry ofdfEw # 4 T @ w3 @ @ 27°C @
37°C & o ¥| 9 afufEwr @t whegu oM @0 TOMT iU

(751 & log 2 = 0-30)

Write the required conditions to maximise the yield of ammonia by

Haber’s process. What happens when NH, reacts with (a) cu?* and

(b) CL, ?

%awm%maﬁﬁm%mmwﬁﬁwmﬁﬁ%@w

gieT & 519 NH, 3ifufran el € (a) Cu®’ @9l (b) Cl, | ?

Draw the structures of the following compounds :

(a) NyOs  (b) HyPO3 (c) HyP0; (d) HySO, (e) XeOF,
frefeatiaa differ St WG ST

(a) N,Os (b) H;PO, (c) H,P,0, (d) HySO, (e} XeOF,

XS-CHE-(COMP)-S (12)/14090| 30 / 32
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W
rite short notes on the following :

" (a) Aldol condensation

| (b) Williamson’s synthesis
(c) Carbylamine reaction.
HefefEs & whg feueft forg -
(@) Ul 'HEH'-'-I
(b)  Taferame = dyeigor

()  watser SR afufiman
Identify 'A', 'B »'C",'D"and 'E"' in the following :

(@  CH, = CH, Bra/ Hzo: ‘A KQH (aq’)> 'B

() CHyCH(BrICH, 22 @), __HBr .,
Peroxide

COCH,

(©) @ + conc. HySO, heat | E'

Pretferfiaa § 2 A, 'B','C’,'D' @1 'E' # UgdM :
Bry/Hy0 ‘Al KOH (et ),

KOH (alc)) HB
(b)  CH3CH(Br)CH,4 >'C! —s D’

() CH, = CH,

COCHj
@ @ T

A

XS-CHE-(COMP)-S (12)/14090
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